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INSTRUCTIONS TO CANDIDATES

. Write your name in capital letters, your Centre Number and Candidate Number in the spaces
provided on the Answer Booklet.

. Write your answers in the separate answer booklet provided.

. Read each question carefully and make sure you know what you have to do before starting
your answer.

. Answer either Section A or Section B.

INFORMATION FOR CANDIDATES

. The number of marks for each question is given in brackets [ ] at the end of each question or
part question.

. The total number of marks for this paper is 90.

This document consists of 5 printed pages and 3 blank pages.
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Answer either Section A or Section B.

Section A (Prose Composition)
Translate the following passage into Greek prose. Write your translation on alternate lines.

Croesus' was once warned? in a dream?® that Atys* his son would die after being struck® by a spear.®
Fearing that the young man might be in great danger, the king concealed his weapons and no longer
sent him out to war. It happened that a very large boar” came down to the plain at that time and was
destroying the corn. After trying in vain to Kill it, the inhabitants asked Croesus' to send his son with
picked?® young men to hunt® the beast. Croesus' was unwilling at first, but Atys* persuaded him that there
was no danger. ‘Boars,” he said, ‘are armed not with spears,® but with tusks.”® One of his companions,
however, throwing his spear carelessly," missed' the boar” and hit"® Atys* himself. Thus the dream?® was
fulfilled.

based on HERODOTUS

'Croesus = Kpotoos -ov (m.)

2| warn = vovleréw

*dream = dvetpos -ov (M.)

‘Atys = "Arvs -vos (M.), accusative Aruvv

°| am struck: use the passive of BaAlw here

sspear = aixuy -7s (f.)

boar = kampos -ov (M.)

*picked = €KKPLTOS -0V

°l hunt = Onpedw

“tusk = 6000Us -6vTos (M.)

""carelessly = duerds

2] miss = auapTavw (+genitive)

3] hit = TUyyxdvw (+genitive)
[90 marks]
[Turn over
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Answer either Section A or Section B.

Section B (Comprehension)

Study the following passage very carefully and answer the questions which follow it. Give a translation
only if one is asked for, or if you think it helps to make your answer clearer. The marks available are
indicated after each question.

Agesilaus, the King of Sparta, newly arrived in Asia Minor to lead a campaign
against the King of Persia, shows he is a man of his word despite the treachery
of Tissaphernes, a Persian governor.

0 pev ovv Ttooaq')e'pvng TOUTO TQ ’Aynm)\dw dpocev: ‘el omeloachal
€édets €ws av ewave)\ewow ol ayye/\m ovs méwbw mpos ,Bacn)\ea
dtampaéopal® avTovéuovs elvar Tas €v 1y Aola méleis Tas
E)\)nywSag.’ Aynollaos 8¢ dvrwpoce omovdas déew Ad6 ws TpEls
Mﬁvas 6 pev o Ttoaaqbe’pw]s a a’ﬁp,ooev evbs e’z/teéoa'ro”‘ o’wri yap ToU
ecpnvnv dyew oTpdTevpa O, ﬂpos @ elye 10 7-rpw 7Tapa Baoc)\ews
peTeméumeTo. Aynm)\aog 8¢, kalmep aw@o,uevog Ta0TA, GUWS eve;uewe
Tafg omovdals. ovnu yap TwaaqSepvnv ey e,uanVLoag émiopkor®
amoTov TACW ewomoev eavTov Oe awemSeLfas opKovs em-reSovVTa
kal ovvliras’ wy pevdduevov,® wavrag ewomoev "EX\nvas 1€ kal
BapBdpovs Bappoivvras cvvrifeclal® éavrd, ométe BodAoro.

6

b \ \ d / ~ / \ / ¢ /
emel 0¢ apikopuévov Tol oTpareluatos mwapa Paciréws 6 Tiooadépyns

Opacvvopevos mpoetmer Aynoldw molepov, €l un amiow €k s Aaolas, ol

uev  ovppayor kal Aakedawuoviwv of mwapdvres pdda  dpyiolévres
davepol éyévovro, voullovres éldrrova THv mapoioav Aynoiddw
GTpaTL'av efvaL ™S Bamkwg TAPATKEDNS Aynm)\aog de pala (ﬁaLSpw
TR wpoawrrw omayyec)\ac g TLocaq')epveL TOUS‘ wpeaﬁas éxélevoev ws
oMy ydpw adrd éyor, St émoprnioas® éavtd pév moleulovs Tods
feods émoinoe, Tois 6 "EAAnot cvupdyouvs.

XENOPHON, Agesilaus 1, 10—13 (adapted)

'omévdopar, aorist éomercauny = | make a truce
2dwampdooopar + infinitive = | bring it about that
“fevdopar (here) = | am untrue to, break
‘eupavilw = | show

sémiopros -ov = guilty of breaking an oath
Séumedow = | stand by, uphold
"ok -us (f.) = agreement

Sovvrifepat = | enter into an agreement
*paidpds -a -ov = joyful, radiant
"0é1r10pKéw = | break an oath
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Lines 1-4 (0 uev odv Tiooadépvns . . . ‘EAAnvidas).

(i) What did Tissaphernes swear to Agesilaus that he would do, and on what
condition? [5+7]

(i) Given that the adjective avrovéuouvs (line 3) agrees with Tas molets, how do you
account for its ending? [1]

Lines 4-8 (Aynoilaos 6€ avrdouoce . . . amovdais).

(i) What oath did Agesilaus swear to Tissaphernes? [5]

(i) What does the prefix av7- add to the meaning of avrawuooe (line 4)? [1]

(iii) In what way did Tissaphernes immediately break the oath he had sworn? [7]

(iv) Translate Aynoidaos &€, kaimep alolouevos tadra, ouws évéuewe Talis
omovdals (lines 7-8). [6]

Lines 8-11 (ovTw yap . . . Bovloiro).

(i) What was the result of Tissaphernes being revealed as a breaker of oaths? [2]

(i) What did Agesilaus’ behaviour reveal about himself, and what was the result? [2+8]

Lines 12-19 (émel . . . cvuudyovs).

(i) What effect did the arrival of the army have on Tissaphernes, and what ultimatum did he
give Agesilaus? [1+5]

(ii) How did the Spartans and their allies react to this ultimatum, and why did they so
react? [2+7]

(iii) What message did Agesilaus give the ambassadors for Tissaphernes? [9]

From what verbs do the following forms come?

(i) évéuewe (line 7) [1]
(i) dvremdeifas (line 9) [1]
(iii) opyLolévres (line 14) [1]
Explain the optative mood of

(i) Bovoiro (line 11) [2]
(i) €xou (line 18) [2]
Lines 8-11 (oUTw 7yap . . . PBovloiro). Show three ways in which the author achieves
contrast and/or balance by his choice of words and word-order here. [2+2+2]

What is particularly effective about the word-order of each of the following?

(i) dwampaopar avTovépovs elvar Tas ev 1) Aocla médeis Tas ‘EAnridas
(lines 3—4)

(i) Aymoilaos 6€ pdda aidpd T4 mpoowmw (lines 16—17)

(iii) €avTd pev moleulovs Tovs Oeovs €moimoe, Tois b€ "EAAnoL ovupdyovs
(lines 18—19) [3+3+3]

[Total: 90 marks]
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